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 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper First 

¼vUrjkZ”Vªh; vFkZ’kkL=½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- rqyukRed ykxr fl)kUr fdl vFkZ’kkL=h ls lEcfU/kr gS \ 

¼v½ ek’kZy 

¼c½ fjdkMksZ 

¼l½ ts- ,l- fey 

¼n½ mi;qZDr lHkh 

Which economist belongs to Comparative Cost Theory ? 

(a) Marshall 

(b) Ricardo 

(c) J. S. Mill 

(d) All of the above 

2- ts- ,l- fey ds vuqlkj Pa × Qa gksrk gS 
-------------------------------

A 

¼v½ Pa × Qa 

¼c½ Pb × Qb 

¼l½ Qa × Ab 

¼n½ mi;qZDr esa ls dksbZ ugha 
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According to J. S. Mill Pa × Qa = .............. .
 

(a) Pa × Qa 

(b) Pb × Qb 

(c) Qa × Ab 

(d) None of the above 

3- Hkqxrku lUrqyu esa vlkE;rk ds izeq[k dkj.k gSa % 

¼v½ eqnzk izlkj 

¼c½ vk;kr esa o`f) 

¼l½ fu;kZr esa deh 

¼n½ mi;qZDr lHkh 

Causes of disequilibrium in balance of payments : 

(a) Inflation 

(b) Increase in imports 

(c) Less in exports 

(d) All of the above 

4- volj ykxr fl)kUr fdl vFkZ’kkL=h ls lEcfU/kr gS \ 

¼v½ ek’kZy 

¼c½ MsfoM fjdkMksZ 

¼l½ ts- ,l- fey 

¼n½ gScjyj 
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Which economist belongs to ‘Opportunity Cost 

Theory’ ? 

(a) Marshall 

(b) David Ricardo 

(c) J. S. Mill 

(d) Haberler 

5- fo’o cSad dh LFkkiuk dc gqbZ Fkh \ 

¼v½ 1942 

¼c½ 1943 

¼l½ 1944 

¼n½ 1945 

When was establishment of World Bank ? 

(a) 1942 

(b) 1943 

(c) 1944 

(d) 1945 

6- vf/kewY;u izR;{k :i ls òf) djrk gS % 

¼v½ vk;kr ewY;ksa esa 

¼c½ fu;kZr ewY;ksa esa 

¼l½ Ø; ewY;ksa esa 

¼n½ mi;qZDr lHkh 
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Overvaluation increases directly : 

(a) In Import Prices 

(b) In Export Prices 

(c) In Purchase Prices 

(d) All of the above 

7- nks&nks&nks ekWMy lEcfU/kr gS % 

¼v½ MsfoM fjdkMksZ ls 

¼c½ ts- ,l- fey ls 

¼l½ gSD’kj&vksgfyu ls 

¼n½ mi;qZDr lHkh ls 

Two-Two-Two model is related to : 

(a) David Ricardo 

(b) J. S. Mill 

(c) Heckscher-Ohlin 

(d) All of the above 

8- rVdj esa o`f) ls % 

¼v½ vk;kr esa deh 

¼c½ fu;kZr esa deh 

¼l½ miHkksx esa deh 

¼n½ ¼v½ vkSj ¼l½ nksuksa 

From increases in Tariff : 

(a) Less in Import 

(b) Less in Export 

(c) Less in consumption 

(d) Both (a) and (c) 
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[k.M&c 

(Section—B) 

9- vUrjkZ”Vªh; O;kikj fdls dgrs gSa \ 

What is International Trade ? 

10- fujis{k ykxr fl)kUr D;k gS \ 

What is absolute cost theory ? 

11- vUrjkZ”Vªh; O;kikj ds nks mís’;ksa dks fyf[k,A 

Write a two objectives of International Trade. 

12- rVdj fdls dgrs gSa \ 

What is Tariff ? 

13- O;kikj dh ‘krks± dk vfHkizk; 
---------------------

 gSA 

Meant of terms of trade ........... . 

14- Hkqxrku lUrqyu dk vFkZ crkb;sA 

Explain the meaning of Balance of Payment. 

[k.M&l 

(Section—C) 

15- volj ykxr fl)kUr fdls dgrs gSa \ 

What is opportunity cost theory ? 

16- vkWQj oØ dks le>kb;sA 

Explain the offer curve. 

17- vuqdwyre iz’kqYd fdls dgrs gSa \ 

What is optimum tariff ? 
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18- vUrjkZ”Vªh; eqnzk dks”k ds mís’;ksa dks fyf[k,A 

Write the objectives of International Monetary Fund ? 

[k.M&n 

(Section—D) 

19- volj ykxr fl)kUr dks le>kb;sA 

Explain the opportunity cost theory. 

20- fons’kh fofue; nj ds fu/kkZj.k dks le>kb;sA 

Explain the determinants of foreign exchange rate. 

21- ;wjksih; eqnzk cktkj dh Hkwfedk dks le>kb;sA 

Explain the role of European Money Market. 

22- Hkkjr ds fons’kh O;kikj dh fn’kk dk o.kZu dhft,A 

Describe the India’s directions of Foreign Trade. 

[k.M&b 

(Section—E) 

23- gsD’kj&vksgfyu ds vUrjkZ”Vªh; O;kikj fl)kUr dh 

vkykspukRed O;k[;k dhft,A 

Critically explain Heckscher-Ohlin theory of 

international trade. 

24- Hkqxrku lUrqyu esa vlkE;rk ds dkj.kksa dk o.kZu dhft, 

rFkk bls dSls nwj fd;k ldrk gS  lq>ko nhft,A 

Describe the causes of disequilibrium in balance of 

payments and how can we remove it, suggest. 

P–7305   
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vFkZ’kkL= 

f}rh; iz’u&i= 

¼Hkkjrh; vFkZO;oLFkk dk fodkl½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- vkfFkZd fu;kstu ds lw=/kkj Fks % 

¼v½ egkRek xk¡/kh 

¼c½ lqHkk”kpUnz cksl 

¼l½ tokgjyky usg: 

¼n½ MkW- jktsUnz izlkn 

Facilitator of economic planning : 

(a) Mahatma Gandhi 

(b) Subhash Chandra Bose 

(c) Jawaharlal Nehru 

(d) Dr. Rajendra Prasad 

2- fdlh Hkh ns’k dh vkfFkZd mUufr esa lokZf/kd egRo gksrk gS % 

¼v½ iw¡th ra= dk 

¼c½ iztk ra= dk 

¼l½ x.kra= dk 

¼n½ mi;qZDr lHkh dk 
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It is the most important in the economic progress of 

any country : 

(a) Capital system 

(b) Democracy 

(c) The republic 

(d) All of the above 

3- dukZVd esa loZizFke fodsfUnzr fu;kstu dk iz;ksx fd;k x;k 

Fkk % 

¼v½ lu~ 1985 esa 

¼c½ lu~ 1987 esa 

¼l½ lu~ 1986 esa 

¼n½ lu~ 1989 esa 

First decentralized planning was used in Karnataka in : 

(a) 1985 

(b) 1987 

(c) 1986 

(d) 1989 

4- xzkeh.k fodkl dk;ZØe dc vkjEHk gqvk Fkk \ 

¼v½ 1976 

¼c½ 1974 

¼l½ 1975 

¼n½ 1977 

When did the Rural Development Programme start ? 

(a) 1976 

(b) 1974 

(c) 1975 

(d) 1977 
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5- jk”Vªh; vk; dk izeq[k lzksr gS % 

¼v½ vk;kr 

¼c½ fu;kZr 

¼l½ d`f”k 

¼n½ O;; 

Main source of national income is : 

(a) Import 

(b) Export 

(c) Agriculture 

(d) Expenditure 

6- Hkkjr esa gfjr Økafr dk izkjEHk gqvk Fkk % 

¼v½ 1966 esa 

¼c½ 1965 esa 

¼l½ 1967 eas 

¼n½ 1964 esa 

Green revolution started in India in : 

(a) 1966 

(b) 1965 

(c) 1967 

(d) 1964 

7- d`f”k mRiknu esa o`f) djus ds fy, izeq[k lk/ku gSa % 

¼v½ mUur cht 

¼c½ flapkbZ lqfo/kk 

¼l½ moZjd 

¼n½ mi;qZDr lHkh 
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The main means to increase agricultural production is : 

(a) Advanced seeds 

(b) Irrigation facility 

(c) Fertilizer 

(d) All of the above 

8- ;kstuk vk;ksx }kjk d`f”k Hkwfe lEcU/kksa dh leh{kk ds fy, 

dk;Zny dh LFkkiuk dh xbZ % 

¼v½ 1968 esa 

¼c½ 1971 esa 

¼l½ 1969 esa 

¼n½ 1972 esa 

Working group was set up by the Planning 

Commission to review agricultural land relations in : 

(a) 1968 

(b) 1971 

(c) 1969 

(d) 1972 

[k.M&c 

(Section—B) 

9- Hkkjrh; fu;kstu dh dksbZ nks miyfC/k;k¡ crkb;sA 

State any two achievements of Indian planning. 

10- etnwjh oLrqvksa ls vki D;k le>rs gSa \ 

What do you understand by Wage Goods ? 

11- fodsfUnzr fu;kstu ds rhu ykHk fyf[k;sA 

Write three benefits of decentralized planning. 
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12- izoklu D;k gS \ 

What is Migration ? 

13- iw¡th&mRikn vuqikr ls vkidk D;k vfHkizk; gS \ 

What do you mean by capital-product ration ? 

14- jS;rokjh O;oLFkk D;k gS \ 

What is Ryotwari System ? 

[k.M&l 

(Section—C) 

15- Hkkjh m|ksxksa dh dfe;ksa dk mYys[k dhft,A 

Mention the shortcomings of heavy industries. 

16- ekuoh; lk/kuksa dk vkfFkZd fodkl esa dSls mi;ksx fd;k 

tkrk gS \ 

How are human resources used in economic 

development ? 

17- vk; dh vlekurk ds dkj.k fyf[k,A 

Write the reasons for income inequality. 

18- Hkwfe lq/kkj dk;ZØeksa ds mn~ns’; fyf[k;sA 

Write the objectives of land reforms programmes. 

[k.M&n 

(Section—D) 

19- d`f”k lajpuk ij iM+us okys f’k{kk ds izHkko dks le>kb;sA 

Explain the impact of education on agricultural 

infrastructure. 
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20- Hkkjr ljdkj dks jkstxkj lEcU/kh uhfr;ksa dh O;k[;k 

dhft,A 

Explain the employment policies of the Government of 

India. 

21- gfjr Økafr ds vkfFkZd ,oa lkekftd izHkkoksa dk mYys[k 

dhft,A 

Mention the economic and social impacts of the Green 

Revolution. 

22- lkoZtfud forj.k iz.kkyh dk vFkZ ,oa mís’; crkb;sA 

Explain the meaning and purpose of public distribution 

system. 

[k.M&b 

(Section—E) 

23- fdlh Hkh ns’k ds vkfFkZd fodkl dks tula[;k o`f) fdl 

izdkj izHkkfor djrh gS \ 

How does population growth affect the economic 

development of any country ? 

24- d`f”k fodkl ls vki D;k le>rs gSa \ d`f”k fodkl dh 

miyfC/k;k¡ crkb;sA 

What do you understand by agricultural 

development ? Explain the achievements of 

agricultural development. 
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ECONOMICS 

Paper Third 

(Labour Economics) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- Je ds izdkj gSa % 

¼v½ 3 

¼c½ 4 

¼l½ 5 

¼n½ 6 

Types of labour are : 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

2- mRikndrk ,d 
-------------------- 

eki gSA 

¼v½ xf.krh; 

¼c½ lkaf[;dh; 

¼l½ oSKkfud 

¼n½ mi;qZDr lHkh 

Labour productivity is a ............ measurement. 

(a) Mathematical 

(b) Statistical 

(c) Scientific 

(d) All of the above 
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3- ns’k esa yxHkx 
----------------------- 

dk;Z’khy tula[;k izkFkfed {ks= ij 

vk/kkfjr gSA 

¼v½ ,d pkSFkkbZ 

¼c½ rhu pkSFkkbZ 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ nks&frgkbZ 

In the country, approx ........... work force is indulged in 

primary sector. 

(a) One Fourth 

(b) Three Fourth 

(c) Both (a) and (b)  

(d) Two-Third 

4- fodkl’khy ns’kksa dh vkfFkZd iz.kkfy;ksa dh rduhdh fo’ks”krk 

gS % 

¼v½ v}Srokn 

¼c½ }Srokn 

¼l½ lkezkT;okn 

¼n½ mi;qZDr lHkh 

Characteristic of developing nations’ economic system 

is : 

(a) Non-dualism 

(b) Dualism 

(c) Imperialism 

(d) None of the above 
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5- vkfFkZd izxfr ds fy, vko’;d gksrh gS % 

¼v½ vkS|ksfxd ‘kkfUr 

¼c½ lkekftd ‘kkfUr 

¼l½ jktuhfrd ‘kkfUr 

¼n½ mi;qZDr lHkh 

Important for economic development : 

(a) Industrial peace 

(b) Social peace 

(c) Political peace 

(d) All of the above 

6- Hkkjr ljdkj us U;wure etnwjh vf/kfu;e cuk;k gS % 

¼v½ 1947 esa 

¼c½ 1948 esa  

¼l½ 1950 esa 

¼n½ 1965 esa 

Indian government made Minimum Wages Act in : 

(a) 1947 

(b) 1948 

(c) 1950 

(d) 1965 

7- Je la?kksa ds fuekZ.k dk izeq[k mís’; D;k gS \ 

¼v½ Jfedkas dks mfpr etnwjh fnykuk 

¼c½ Jfedksa dks dk;Z fnykuk 

¼l½ dsoy efgykvksa dks mfpr etnwjh fnykuk 

¼n½ cky&Je dks dk;Z fnykuk 
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What is the prime objective of labor organization ? 

(a) Providing adequate wage to labourers 

(b) Providing work to labourers 

(c) Providing adequate wage only to women 

(d) Providing work to child-labor 

8- o`gn~ m|ksxksa esa vko’;drk gksrh gS % 

¼v½ dPps eky dh 

¼c½ Jfedksa dh 

¼l½ iw¡th dh 

¼n½ mi;qZDr lHkh dh 

Large scale Industry needs : 

(a) Raw materials 

(b) Labourers 

(c) Capital 

(d) All of the above 

[k.M&c 

(Section—B) 

9- etnwjh dh Åijh lhek ls vkidk D;k rkRi;Z gS \ 

What do you mean by upper wage limit ? 

10- Je la?k ds dk;ks± ij izdk’k Mkfy,A 

Throw light on working of labour union. 

11- m|ksxksa dks lqpk# :i ls pykus ds fy, Jfedksa dh D;k 

Hkkxhnkjh gS \ 

What is the contribution of labourers in running 

industries smoothly ? 
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12- lkewfgd lkSnsckth dks le>kb;sA 

Explain collective bargaining. 

13- Lopkfyrk dh vo/kkj.kk Li”V dhft,A 

Explain concept of automation. 

14- Je dh mRikndrk dk ekiu dSls fd;k tkrk gS \ 

How is productivity of labour measured ? 

[k.M&l 

(Section—C) 

15- fodkl’khy ns’k esa xzkeh.k ls ‘kgjh {ks= izokl dh egRork 

dk o.kZu dhft,A 

Describe importance of rural to urban migration in 

developing country. 

16- vkSipkfjd {ks= dh fo’ks”krkvksa dk o.kZu dhft,A 

Describe characteristics of informal sector. 

17- xzkeh.k Jfed ifjokjksa dh fLFkfr dks crkb;sA 

Explain condition of rural labour family. 

18- vkS|ksfxd Jfedksa ds fooknksa dks Li”V dhft,A 

Explain disputes of Industrial Labourers. 

[k.M&n 

(Section—D) 

19- vkS|ksfxd Jfedksa dh vkokl O;oLFkk dh foospuk dhft,A 

Discuss the accommodation facility of industrial 

labourers. 
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20- Je dY;k.k esa etnwj laxBuksa dh Hkwfedk rFkk ekfydksa dh 

Hkwfedk dks Li”V dhft,A 

Explain role of labour organisations and employer in 

the welfare of labour. 

21- fofHkUu O;olk;ksa esa etnwjh dh njksa esa vUrj ds dkj.k dks 

Li”V dhft,A 

Explain causes of differences in wage rate in different 

types of profession. 

22- Je dh mRikndrk dks izHkkfor djus okys izeq[k dkjd 

dkSu&dkSu ls gSa \ O;k[;k dhft,A 

Explain what are the factors affecting productivity of 

labour. 

[k.M&b 

(Section—E) 

23- ljdkj }kjk Jfedksa ds fy, fd, x, iz;kl dks Li”V djrs 

gq, d`f”k Jfedksa dh ghu vkfFkZd n’kk ds dkj.kksa dks Li”V 

dhft,A 

Explain the efforts made by government for the 

labourers and explain the reasons for inferior economic 

condition of agricultural labourers. 

24- vUrjkZ”Vªh; Je laxBu ds fl)kUr  bldh lajpuk ,oa dk;Z& 

fof/k dk foLr`r o.kZu dhft,A 

Describe the principles of international labour 

organization, its structure and working. 

P–7307   
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M. A. (Final) 

 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper Fourth 

¼{ks=h; vkfFkZd fodkl ,oa fu;kstu½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- xSj dher izfr;ksfxrk fdl cktkj esa ikbZ tkrh gS \ 

Non-price competition is found in which market ? 

2- U;wure vk; okyk izns’k 
--------------------

 gSA 

The state with the lowest income is .............. . 

3- Hkkjr esa orZeku esa dkSu&lh vkS|ksfxd uhfr ykxw gS \ 

Which industrial policy is currently in force in  

India ? 

4- vkfFkZd lao`f) ds izHkko dk fo’ys”k.k fdlus fd;k \ 

Who analysed the effects of Economic Growth ? 

5- Hkkjr ds dqy HkkSxksfyd {ks= dk fdruk izfr’kr ou gS \ 

What percentage of the original geographical area of 

India is forest ? 
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6- diM+s ds vf/kdka’k dkj[kkus dgk¡ fLFkr gSa \ 

Where are most of the factories of clothes  

located ? 

7- Hkkjr dh fdruh izfr’kr tula[;k fu/kZurk dh js[kk ds uhps 

gSa \ 

What percentage of India’s population are below the 

poverty line ? 

8- [kfutksa ds ekeys esa lcls le`) jkT; dkSu&lk gS \ 

Which is the most prosperous state in terms of 

minerals ? 

[k.M&c 

(Section—B) 

9- LFkkuhdj.k dk D;k vfHkizk; gS \ 

What does localization mean ? 

10- iw¡th [kkrs ls vki D;k le>rs gSa \ 

What do you understand by capital account ? 

11- ldy ?kjsyw mRikn ls vki D;k le>rs gS \ 

What do you mean by Gross Domestic Product ? 
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12- yk¡xs ekWMy dks la{ksi esa crkb;sA 

Briefly describe the Longue model. 

13- feyk&tqyk lwpdkad fdls dgrs gSa \ 

What is a Combined Index ? 

14- fiNM+s {ks=ksa dh igpku ds vk/kkjHkwr rRo dkSu&dkSu ls gSa \ 

What are the basic elements of identification of 

backward areas ? 

[k.M&l 

(Section—C) 

15- viw.kZ izfr;ksfxrk ds dkj.kksa ij izdk’k Mkfy,A 

Highlight the reasons for imperfect competition. 

16- Hkkjr esa cktkj dk Lo:i dSlk gS \ muds fu/kkZjd dkjdksa 

dk o.kZu dhft,A 

What is the nature of the market in India ? Describe 

their determinant factors. 

17- izknsf’kd fodkl ds fl)kUrksa dh O;k[;k dhft,A 

Explain the principles of regional development. 

18- vYifodflr ns’k dh fo’ks”krkvksa ij izdk’k Mkfy,A 

Highlight the characteristics of the underdeveloped 

country. 
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[k.M&n 

(Section—D) 

19- ou gekjs fy, fdrus egŸoiw.kZ gSa \ foLrkj ls le>kb;sA 

How important are forests for us ? Explain in detail. 

20- ß,d ns’k ds vkfFkZd fodkl gsrq {ks=ksa dk rhoz vkS|ksxhdj.k 

vko’;d gSAÞ bl dFku dk lfoLrkj o.kZu dhft,A 

“Rapid industrialization of regions is necessary for the 

economic development of a country.” Describe this 

statement in detail. 

21- Hkkjrh; fu;kstu dh j.kuhfr ds ewy rRoksa dh O;k[;k 

dhft,A 

Explain the basic elements of Indian Planning  

Strategy. 

22- vkS|ksfxd dkWEIysDl ls vki D;k le>rs gSa \ Li”V  

dhft,A 

What do you mean by Industry Complex ? Clear it. 

[k.M&b 

(Section—E) 

23- ‘kgjhdj.k ds fy, lk/kd fl) gq, lHkh izdkj ds dkjdksa 

dh lfoLrkj foospuk dhft,A 
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Describe in detail all the factors that have proved to be 

seekers for urbanization. 

24- ,dkf/kd`r izfr;ksfxrk ds vUrxZr dher ,oa mRiknu fu/kkZj.k 

le>kb;sA 

Explain the price and production determination under 

monopolistic competition. 
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